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Chip 0 Vt50 at 2.00fC Nent = 92     
Constant = 5.152 +- 0.6579 
Mean     = 144.2 +- 0.3714 
Sigma    = 3.562 +- 0.2626 

Chip 0 Vt50 at 2.00fC Nent = 92     
Constant = 5.152 +- 0.6579 
Mean     = 144.2 +- 0.3714 
Sigma    = 3.562 +- 0.2626 
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Chip 1 Vt50 at 2.00fC Nent = 126    
Constant = 11.54 +- 1.259 
Mean     = 143.7 +- 0.194 
Sigma    = 2.177 +- 0.1372 

Chip 1 Vt50 at 2.00fC Nent = 126    
Constant = 11.54 +- 1.259 
Mean     = 143.7 +- 0.194 
Sigma    = 2.177 +- 0.1372 
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Chip 2 Vt50 at 2.00fC Nent = 122    
Constant = 14.17 +- 1.578 
Mean     = 143.8 +- 0.1548 
Sigma    = 1.703 +- 0.1095 

Chip 2 Vt50 at 2.00fC Nent = 122    
Constant = 14.17 +- 1.578 
Mean     = 143.8 +- 0.1548 
Sigma    = 1.703 +- 0.1095 
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Chip 3 Vt50 at 2.00fC Nent = 95     
Constant = 10.68 +- 1.342 
Mean     = 141.7 +- 0.182 
Sigma    = 1.774 +- 0.1287 

Chip 3 Vt50 at 2.00fC Nent = 95     
Constant = 10.68 +- 1.342 
Mean     = 141.7 +- 0.182 
Sigma    = 1.774 +- 0.1287 
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Chip 4 Vt50 at 2.00fC Nent = 127    
Constant =  13.7 +- 1.489 
Mean     =   144 +- 0.164 
Sigma    = 1.848 +- 0.116 

Chip 4 Vt50 at 2.00fC Nent = 127    
Constant =  13.7 +- 1.489 
Mean     =   144 +- 0.164 
Sigma    = 1.848 +- 0.116 
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Chip 5 Vt50 at 2.00fC Nent = 127    
Constant = 15.61 +- 1.697 
Mean     = 143.5 +- 0.144 
Sigma    = 1.623 +- 0.1018 

Chip 5 Vt50 at 2.00fC Nent = 127    
Constant = 15.61 +- 1.697 
Mean     = 143.5 +- 0.144 
Sigma    = 1.623 +- 0.1018 
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Chip 0 Gain at 2.00fC Nent = 92     
Constant = 9.481 +- 1.211 
Mean     = 51.87 +- 0.2018 
Sigma    = 1.936 +- 0.1427 

Chip 0 Gain at 2.00fC Nent = 92     
Constant = 9.481 +- 1.211 
Mean     = 51.87 +- 0.2018 
Sigma    = 1.936 +- 0.1427 
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Chip 1 Gain at 2.00fC Nent = 126    
Constant = 18.61 +- 2.031 
Mean     = 50.77 +- 0.1203 
Sigma    =  1.35 +- 0.08505 

Chip 1 Gain at 2.00fC Nent = 126    
Constant = 18.61 +- 2.031 
Mean     = 50.77 +- 0.1203 
Sigma    =  1.35 +- 0.08505 
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Chip 2 Gain at 2.00fC Nent = 122    

Constant = 17.42 +- 1.932 
Mean     = 49.85 +- 0.1264 
Sigma    = 1.397 +- 0.08941 

Chip 2 Gain at 2.00fC Nent = 122    
Constant = 17.42 +- 1.932 
Mean     = 49.85 +- 0.1264 
Sigma    = 1.397 +- 0.08941 
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Chip 3 Gain at 2.00fC Nent = 95     
Constant = 18.33 +- 2.304 
Mean     = 48.84 +- 0.106 
Sigma    = 1.034 +- 0.07498 

Chip 3 Gain at 2.00fC Nent = 95     
Constant = 18.33 +- 2.304 
Mean     = 48.84 +- 0.106 
Sigma    = 1.034 +- 0.07498 
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Chip 4 Gain at 2.00fC Nent = 127    
Constant = 25.64 +- 2.787 
Mean     = 46.56 +- 0.08767 
Sigma    = 0.988 +- 0.06199 

Chip 4 Gain at 2.00fC Nent = 127    
Constant = 25.64 +- 2.787 
Mean     = 46.56 +- 0.08767 
Sigma    = 0.988 +- 0.06199 
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Chip 5 Gain at 2.00fC Nent = 127    
Constant = 28.62 +-  3.11 
Mean     = 46.42 +- 0.07855 
Sigma    = 0.8853 +- 0.05555 

Chip 5 Gain at 2.00fC Nent = 127    
Constant = 28.62 +-  3.11 
Mean     = 46.42 +- 0.07855 
Sigma    = 0.8853 +- 0.05555 
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Chip 0 Extrapolated Offset Nent = 92     
Constant = 19.68 +- 2.513 
Mean     =  40.6 +- 0.1945 
Sigma    = 1.865 +- 0.1375 

Chip 0 Extrapolated Offset Nent = 92     
Constant = 19.68 +- 2.513 
Mean     =  40.6 +- 0.1945 
Sigma    = 1.865 +- 0.1375 
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Chip 1 Extrapolated Offset Nent = 126    
Constant = 24.48 +- 2.671 
Mean     = 41.98 +- 0.183 
Sigma    = 2.054 +- 0.1294 

Chip 1 Extrapolated Offset Nent = 126    
Constant = 24.48 +- 2.671 
Mean     = 41.98 +- 0.183 
Sigma    = 2.054 +- 0.1294 
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Chip 2 Extrapolated Offset Nent = 122    
Constant = 30.24 +- 3.353 
Mean     =  43.5 +- 0.1457 
Sigma    = 1.609 +- 0.103 

Chip 2 Extrapolated Offset Nent = 122    
Constant = 30.24 +- 3.353 
Mean     =  43.5 +- 0.1457 
Sigma    = 1.609 +- 0.103 

Extrapolated Offset (mV)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

Chip 3 Extrapolated Offset Nent = 95     
Constant = 21.77 +- 2.736 
Mean     = 44.25 +- 0.1786 
Sigma    = 1.741 +- 0.1263 

Chip 3 Extrapolated Offset Nent = 95     
Constant = 21.77 +- 2.736 
Mean     = 44.25 +- 0.1786 
Sigma    = 1.741 +- 0.1263 
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Chip 4 Extrapolated Offset Nent = 127    

Constant = 33.59 +- 3.651 
Mean     = 51.52 +- 0.1338 
Sigma    = 1.508 +- 0.09464 

Chip 4 Extrapolated Offset Nent = 127    
Constant = 33.59 +- 3.651 
Mean     = 51.52 +- 0.1338 
Sigma    = 1.508 +- 0.09464 
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Chip 5 Extrapolated Offset Nent = 127    
Constant = 31.85 +- 3.461 
Mean     = 51.31 +- 0.1412 
Sigma    = 1.591 +- 0.09983 

Chip 5 Extrapolated Offset Nent = 127    
Constant = 31.85 +- 3.461 
Mean     = 51.31 +- 0.1412 
Sigma    = 1.591 +- 0.09983 
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Chip 0 Input Noise at 2.00fC Nent = 92     
Constant = 2.787 +- 0.3642 
Mean     =  1432 +- 47.88 
Sigma    = 442.8 +- 37.17 

Chip 0 Input Noise at 2.00fC Nent = 92     
Constant = 2.787 +- 0.3642 
Mean     =  1432 +- 47.88 
Sigma    = 442.8 +- 37.17 
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Chip 1 Input Noise at 2.00fC Nent = 126    
Constant = 51.39 +- 5.608 
Mean     =  1636 +- 2.905 
Sigma    =  32.6 +- 2.054 

Chip 1 Input Noise at 2.00fC Nent = 126    
Constant = 51.39 +- 5.608 
Mean     =  1636 +- 2.905 
Sigma    =  32.6 +- 2.054 
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Chip 2 Input Noise at 2.00fC Nent = 122    
Constant = 45.83 +- 5.082 
Mean     =  1654 +- 3.205 
Sigma    =  35.4 +- 2.266 

Chip 2 Input Noise at 2.00fC Nent = 122    
Constant = 45.83 +- 5.082 
Mean     =  1654 +- 3.205 
Sigma    =  35.4 +- 2.266 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

Chip 3 Input Noise at 2.00fC Nent = 95     
Constant = 28.72 +- 3.629 
Mean     =  1763 +- 4.488 
Sigma    = 43.52 +- 3.174 

Chip 3 Input Noise at 2.00fC Nent = 95     
Constant = 28.72 +- 3.629 
Mean     =  1763 +- 4.488 
Sigma    = 43.52 +- 3.174 
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Chip 4 Input Noise at 2.00fC Nent = 127    
Constant = 33.48 +- 3.654 
Mean     =  1812 +- 4.458 
Sigma    = 50.04 +- 3.152 

Chip 4 Input Noise at 2.00fC Nent = 127    
Constant = 33.48 +- 3.654 
Mean     =  1812 +- 4.458 
Sigma    = 50.04 +- 3.152 
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Chip 5 Input Noise at 2.00fC Nent = 127    
Constant = 39.55 +- 4.299 
Mean     =  1776 +- 3.789 
Sigma    =  42.7 +- 2.679 

Chip 5 Input Noise at 2.00fC Nent = 127    
Constant = 39.55 +- 4.299 
Mean     =  1776 +- 3.789 
Sigma    =  42.7 +- 2.679 
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Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 0 Response Curve Nent = 0      
Nent = 0      
p0       = 40.58 +- 31.21 
p1       = 51.88 +- 15.41 

Chip 0 Response Curve Nent = 0      
p0       = 40.58 +- 31.21 
p1       = 51.88 +- 15.41 
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Chip 1 Response Curve Nent = 0      
Nent = 0      
p0       = 42.03 +- 29.94 
p1       = 50.79 +- 14.71 

Chip 1 Response Curve Nent = 0      
p0       = 42.03 +- 29.94 
p1       = 50.79 +- 14.71 
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Chip 2 Response Curve Nent = 0      
Nent = 0      
p0       = 43.48 +- 29.37 
p1       = 49.88 +- 14.44 

Chip 2 Response Curve Nent = 0      
p0       = 43.48 +- 29.37 
p1       = 49.88 +- 14.44 
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Chip 3 Response Curve Nent = 0      
Nent = 0      
p0       = 44.26 +- 28.56 
p1       = 48.82 +- 14.02 

Chip 3 Response Curve Nent = 0      
p0       = 44.26 +- 28.56 
p1       = 48.82 +- 14.02 
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Chip 4 Response Curve Nent = 0      
Nent = 0      
p0       = 51.47 +- 27.35 
p1       = 46.56 +- 13.43 

Chip 4 Response Curve Nent = 0      
p0       = 51.47 +- 27.35 
p1       = 46.56 +- 13.43 
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Chip 5 Response Curve Nent = 0      
Nent = 0      
p0       = 51.28 +- 27.21 
p1       = 46.44 +- 13.35 

Chip 5 Response Curve Nent = 0      
p0       = 51.28 +- 27.21 
p1       = 46.44 +- 13.35 
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Page 3   Run 357   Start Scan 18   Module 0   Stream 1
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Chip 0 Vt50 at 2.00fC Nent = 125    
Constant = 11.49 +- 1.259 
Mean     = 153.7 +- 0.1941 
Sigma    =  2.17 +- 0.1373 

Chip 0 Vt50 at 2.00fC Nent = 125    
Constant = 11.49 +- 1.259 
Mean     = 153.7 +- 0.1941 
Sigma    =  2.17 +- 0.1373 
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Chip 1 Vt50 at 2.00fC Nent = 127    
Constant = 13.03 +- 1.416 
Mean     = 150.7 +- 0.1725 
Sigma    = 1.944 +- 0.122 

Chip 1 Vt50 at 2.00fC Nent = 127    
Constant = 13.03 +- 1.416 
Mean     = 150.7 +- 0.1725 
Sigma    = 1.944 +- 0.122 
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Chip 2 Vt50 at 2.00fC Nent = 125    
Constant = 12.05 +- 1.321 
Mean     = 148.5 +- 0.185 
Sigma    = 2.068 +- 0.1308 

Chip 2 Vt50 at 2.00fC Nent = 125    
Constant = 12.05 +- 1.321 
Mean     = 148.5 +- 0.185 
Sigma    = 2.068 +- 0.1308 
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Chip 3 Vt50 at 2.00fC Nent = 127    
Constant = 14.45 +- 1.571 
Mean     = 149.7 +- 0.1556 
Sigma    = 1.753 +-  0.11 
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Constant = 33.32 +- 3.621 
Mean     = 51.55 +- 0.1349 
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Constant = 24.56 +- 2.669 
Mean     = 53.16 +- 0.1831 
Sigma    = 2.063 +- 0.1294 
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Constant = 24.56 +- 2.669 
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Constant = 32.37 +- 3.532 
Mean     = 53.75 +- 0.1383 
Sigma    = 1.553 +- 0.09783 
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Chip 0 Input Noise at 2.00fC Nent = 125    
Constant = 35.65 +- 3.905 
Mean     =  1576 +- 4.171 
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Constant = 31.87 +- 3.464 
Mean     =  1694 +- 4.703 
Sigma    =    53 +- 3.325 
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Constant = 31.87 +- 3.464 
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Constant = 38.35 +- 4.201 
Mean     =  1745 +- 3.877 
Sigma    = 43.35 +- 2.742 
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Constant = 38.35 +- 4.201 
Mean     =  1745 +- 3.877 
Sigma    = 43.35 +- 2.742 
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Chip 3 Input Noise at 2.00fC Nent = 127    
Constant = 32.32 +- 3.512 
Mean     =  1744 +- 4.637 
Sigma    = 52.26 +- 3.279 
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Constant = 32.32 +- 3.512 
Mean     =  1744 +- 4.637 
Sigma    = 52.26 +- 3.279 
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Chip 4 Input Noise at 2.00fC Nent = 127    
Constant = 27.51 +- 2.991 
Mean     =  2240 +- 5.448 
Sigma    = 61.39 +- 3.855 
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Constant = 27.51 +- 2.991 
Mean     =  2240 +- 5.448 
Sigma    = 61.39 +- 3.855 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

Chip 5 Input Noise at 2.00fC Nent = 126    
Constant = 41.21 +- 4.496 
Mean     =  1678 +- 3.623 
Sigma    = 40.66 +- 2.561 
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Constant = 41.21 +- 4.496 
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Sigma    = 40.66 +- 2.561 
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